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1. 4. HEALFE (@): WF—EBmL)N 1: 5~10 FHE CRIFRIRZ 0.1g 4143, A ImL
F—) BHTUKIBAIH . 8000g, 4°CEELr 10min, HY biE B vk B4R .

2. M. HE: ERgEE (100D WA (mL) 25 500~1000: 1 HJELE] G2 500 748N
N ImL G —), UKIGHE S i AN (3h R 300w, #7538, R 7B, AEHE 3min)s AR5
8000g, 4°C, B5.» 10min, H_EiEE T ok B4R,

3. MG BEiENE

GSH MEH#R1E:

1. 66T/ BEFRACH A 30min, WK E] 412 nm, ZEEAKHE.

2. WM =BT 25°C () 83 37°C ALY K 4RI 30min.

3. A BUMEBE A IS 96 FLAR, MU 20uL 848K, 140pL iR, 40uL {751 =, REIH

B 2min J5E 412 nm OGS Al.

4, PEE: PUNEIMH A 96 fLA, KK 20uL EiEW, 140ul RF—, 40uL RFI=, R

B 2min J5E 412 nm OGEE A2,

HR: ZEERTEUE—K.

GSH SEitHARN:
GSH FrfE 28 A3: y=1.5x (x N GSH #J¥, pmol/mL; y AWIGIE)
affHMEARE AN KT EART T

(D HEARETHE
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GSH (umol/ mg prot) =(A2— A1) +1.5xV i+ (V F£xCpr)  =0.667x(A2—A1) +Cpr

(2) HrEA T

GSH (pmol/g fH) =(A2—A1) +1.5xV F=+(V FH+V FEExW)=0.667x(A2—Al) +W

(3) 40 A T

GSH (pmol /10%cell) =(A2—Al) ~1.5xV FE+(V #+V A x5 2)=0.667x(A2— Al) 4 3 &

(4) FRIAARFR 5

GSH (pmol/mL) =(A2—Al) +1.5xV ¥tV ¥t =0.667x(A2—Al)

VO RE: RMAAER, 02mL: VAER: BIEWAAR, 1mL: VFE: AN RBAE RSB EIEBRER,
20uL=0.02 mL; Cpr: Fi5WEARIKE, mg/mL; W: FEMi=

b AT 96 FLIRM R THHEARMT

GSH #r#fE I8 A0 y=0.75x (x N GSH ¥, pmol/mL; y NWRIGfED

(D HEARETHE

GSH (pmol/ mg prot) =(A2—Al) +0.75xV #+V #=+Cpr =1.334x(A2— A1) +Cpr

(2) FrEA L I

GSH (pmol/g #H) =(A2—Al) +0.75xV Fi=(V =V FEExW)=1.334x(A2—Al) =W

(3) 4 AR T

GSH (pmol /10%cell) =(A2—Al) +0.75xV F+(V F+V FER x4 E)=1.334x(A2—Al) ~ 4l i &
(4) FERIAARFR 5

GSH (umol/mL) =(A2—A1) +0.75xV K E+V FE =1.334x(A2—Al)

VAR BIEWSAR, ImL: VR IR BAR RS EEBRAATR, 20uL=0.02 mL; Cpr: 3G & BIK
&, mg/mL; W: FERRE, g.

FEEN:
1. AN EEEARVUEH, Fit EERARE T RAWRENE.
2. EKHFR2Y 0.011mmol/L.



